VAJA – Pisno računanje
Račune prepiši v zvezek za MAT in jih izračunaj.
[bookmark: _GoBack]Pazi na urejenost zapisa v zvezeku.

1. Deli 
	5 462 : 3 =               
	6 027 : 5 =               
	4 876 : 9 =               



2. Zmnoži.

    134 ∙ 2      		 	   238 ∙ 3     		      560 ∙ 5      
    
  
3. Zmnoži.
       205 ∙ 21             		  570 ∙ 56             		3 079 ∙ 25    
                      
4. Odštej ali seštej.
	   
   358 241
–   31 804


	 
   953 407
– 207 891


	 
      7 009
– 58 237


	  
   17 358
–  87 879





5. Deli
	[bookmark: _Hlk4416456]5 207 : 40 =               



	6 390 : 73 =               

	7 045 : 89 =               






